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& 500 ExX3
Z: 510 2nEx3ES
& 511 2NLE3ES (2r9:88)
E.2-8-2 0l &k o8 B ol by Bl =2t
O sJ/H ws&bl X 15,000,000& = 14 15,000
O MEINEIHsE0deld) ¥Hus 3,500,000& = 14 3,500
<JlsEz21 > 166,050 243,020 276,970
O X I8 & &3 M3 MEIdl= AlY  50,000,000& * 14 50,000
O M D20Y stA2e A 50,000,000 = 1J0H 50,000
O SOA LN B2 2 SHEALIE AlY
15,000,000& * 14 15,000
O U et ML AI|=23 AlY 10,000,000& = 14| 10,000
O Zgzd3s 29 13,000,000& = 14| 13,000
O gofis et 29 7,400,000& * 14 7,400
O Yofis 222 29 3,150,000& * 14 3,150
O sit3dgll&s 82483 6,500,000& = 14 6,500
O sitE ASTA =4 6,000,000& = 14| 6,000
O XNYgsEstsglles 323 o X 5,000,000& = 14| 5,000
< SMFFH > 5,736 3,923 1,813
O @Ry ALET Oyl 700,008 * 14! 700
O GAPRI S otdd HAHl XA 5,036,000& = 14 5,036
< SAICIAQI D > 240,000 0 240,000
O £24 83 =48 Mg 240,000,000& = 14 240,000
< AHEDE > 2,844,367 2,422,558 421,809
O AL 123,067,000& = 14 123,067
O = JtR)| 1,250,406,000& * 14 1,250,406
O &MEHI0IQIHA &8 =& 171,525,000& = 14 171,525
O ga3gidsE =8 2,280,000& = 14 2,280
O LLYIAHEH BESAY 4,000,000& = 14 4,000
O U2 SS(EOTUIAIAIE) K& 7,260,000& = 14 7,260
O AEHIIQNA HBAY(BAFAY 22)
14,100,000& * 14l 14,100
O ¢tEAblA =20 33,254,000& = 14| 33,254
O dgdols LMY 679,036,000& * 14l 679,036
O METHHZLIHE AL 43,473,000 * 14 43,473
O ML XA 213,188,000& * 14 213,188
O LEANHIAZ0F 218 2ARP BIX 52,778,000& = 14| 52,778
O NHASIA ZHAY 250,000,000& = 14| 250,000




09 i 0

500 =2
510 =
511 =

Z2-2-8-5 Off &4 & E Ol At Hns2
<SEL > 29,393 3,630,593 A3,601,200
O ZAIsX2el&d 8,393,000& = 14 8,393
O gz gAY 21,000,000& * 1JH 1w 21,000
< 230z > 2,512,785 1,218,549 1,294,236
O ZAZ0F Gis2ZA X3 A 64,049,000 = 14 64,049
O = A2 FHIAE 1,050,000,000& * 14 1,050,000
O =27 H UM 175,000,000& * 14 175,000
O SLSX2M ZAIAUH BIXIA 81,936,000& = 14 81,936
O SLSE2M dHAIAE ASAY 7,700,000 = 14 7,700
O ES2=X2sM et Xt A ALY 12,600,000 * 141 12,600
O E=At HSE HME=ALE 700,000,000 * 14 700,000
O E=At =ZANE S5 AAZAHAE 15,000,000& * 14 15,000
O Hgwsl E+Atd 100,000,000& * 14 100,000
O == dga oM At 280,000,000& = 14l 280,000
O RERIM(AEE ) dxns2 SHGAY
1,500,000& = 14! 1,500
O 0+ EEG A= ExAEY 25,000,000& * 14| 25,000
< ANEEZAZ > 51,000 51,000 0
O 33T HM2 JaA2t 2F K& 51,000,000& = 14 51,000
< ETZRAUMS D > 500,000 300,000 200,000
O &z s3AMX SUASXF JHISAM
500,000,000& = 14! 500,000
< SRUEEFEL > 11,678 12,581 2903
O IIFBHSEMNR NE 11,678,000& * 14l 11,678
511-02 29 - NAEHELEIHNEES 35,696,609 44,382,929 A8,686,320
[ 2etsl A ] 35,696,609 44,382,929 A 8,686,320
< HSXNZ L > 1,630,000 0 1,630,000
O dgor=& e &X 300,000,000& * 14 300,000
O XgsgHuazds A 980,000,000& * 14 980,000
O 28 d8MsAdE X& 350,000,000& * 14 350,000
< AMHEXE D> 150,000 0 150,000
O stLd=s3X 23 MactEA 4R
150,000,000& = 14 150,000
<OHAENED > 300,000 0 300,000
O 2 ¥4A4E252d A8 300,000,000 = 14! 300,000




& 500 ExX3
Z: 510 2nEx3ES
& 511 2NLE3ES (2r9:88)
E.2-8-2 0l &k o8 B ol by Bl =2t
< 2 > 1,900,000 1,100,000 800,000
O &otste Ordst 24 ZHALS 1,000,000,000& * 14 1,000,000
O JhAt2l MEHRIE W2 LalX E&AY
500,000,000& = 14| 500,000
O 32 MHFLI32 ZEAY 400,000,000 = 14l 400,000
< s=ABF N > 826,000 5,668,000 A 4,842,000
O =& MRS AEAMNY 226,000,000& * 14 226,000
O USHALIILEXAY 600,000,000& = 14| 600,000
<O AD > 1,032,000 488,000 544,000
O =438 gy 4= 320,000,000 = 14! 320,000
O 220 oA 116,000,000 = 14 116,000
O Zxgs e HHIIZ =04 175,000,000& = 14 175,000
O oMl &a HotE & XA 105,000,000& = 14| 105,000
O LMDl FAY 316,000,000& = 14 316,000
< oHrEfetd ™ > 2,644,000 3,884,000 A 1,240,000
O HEsEMNLAL(0ISAHLA) 1,200,000,000& * 14 1,200,000
O A3 X+ HHHEBIALS 1,000,000,000& * 14 1,000,000
O oE2X - HOHHEBIALS 70,000,000& = 14| 70,000
O S4& HLHASE LAY 244,000,000& = 14 244,000
O HAHE dIEZ=E2 ZHAE 130,000,000& = 14| 130,000
< HXEONED > 15,316,000 16, 183,000 A 867,000
O =gtlls 2&u ML 1,200,000,000& * 14 1,200,000
O KNS (HEFE) ANESA 1,000,000,000& = 14! 1,000,000
O 33X SASENLAY 6,981,000,000& * 14 6,981,000
O S&E~HE2F A= It I A 6,135,000,000& * 14 6,135,000
< SAHEL > 1,400,000 810,000 590,000
O s¢s5 2K S FHAY 1,400,000,000& * 14 1,400,000
< ALY > 2,526,000 4,108,000 A 1,582,000
O SHAY =02 SEMLEAMY 976,000,000& = 14| 976,000
O ==4&3d JH(F=H)AY 300,000,000& = 14 300,000
O AE sEEFHEAEY 1,250,000,000& * 14 1,250,000
<us#HL > 200,000 190,000 10,000
O 0eol B9 ¢HE CCTV X3 At
200,000,000& = 14| 200,000




& 500 2=
2 510 =02x3S
g 511 = NEXSS (Sl &&)
Z2-2-8-5 Off &4 & E Ol At Hns2
<sgIHY 200,000 0 200,000
O sMsENE0S ZEAY 200,000,000& = 14! 200,000
<sENEL > 275,000 50,000 225,000
O sEXNZIIet AIEXH 200,000,000& = 14l 200,000
O s&g &3Hd Hol&Ed X2 50,000,000& = 14 50,000
O dSAa=2s Ads g8 NE 25,000,000& * 14| 25,000
<JlzsE=sh > 35,000 510,000 475,000
O sEX& &#dl X& 35,000,000& * 14 35,000
< SMUEBSFHL > 350,000 0 350,000
O '"144 SEMASLH(NESTHES st 2 EHME M
&) 350,000,000& * 14 350,000
< SAICIR QI > 560,000 600,000 240,000
O SUAE ASBAL(HI . AL)HAAS
560,000,000& = 14! 560,000
< SZEogn > 869,000 1,750,000 881,000
O B& ofL2ZCHR JIBAIE ZE ALY
869,000,000& = 14! 869,000
< At > 1,345,609 1,990,929 A 645,320
O uesd 29 80,000,000& = 14| 80,000
O Sgt jgs2dd 2 200,000,000& * 14 200,000
O G (SA=) =4AY 300,000,000& * 14 300,000
O S&t2 FHlAY 128,000,000& * 14 128,000
O g &x € |X 2 637,609,000& = 14l 637,609
< SEW > 371,000 364,000 7,000
O N2+ ZEAY 271,000,000& * 14 271,000
O sMHk 38 ZdAd 100,000,000& * 14 100,000
< =T > 3,767,000 5,837,000 2,070,000
O Yot T A= HLAEY 405,000,000 = 14l 405,000
O e THAE HEAY 1,658,000,000& = 14! 1,658,000
O R EAA=3 HLAY 1,088,000,000& = 14l 1,088,000
O 272 =S AIE HSAMS(7HXF) 616,000,000 * 14l 616,000
511-03 J1=2 5,311,545 4,588,396 723,149
[ 2etsl A ] 5,311,545 4,588,396 723,149
< HSXNE L > 327,943 299,700 28,243
O AZ=ZH 018H NSAY 133,555,000& * 14 133,555
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& 500 2=
2 510 =02x3S
g 511 = NEXSS (Sl &&)
Z2-2-8-5 Oll &F o & E Ol At Hns2
O & xJ1&d 120,970,000& = 14 120,970
O Mo AZae 6,823,000& » 14 6,823
O & 88X 2dzH XA 217,109,000& = 14l 217,109
O & 9t A & QUSFELME 2F  200,000,0003 * 14 200,000
O 8 Hid 2k 2d=d X2 99,596,000& = 14 99,596
O gu=2A 202,550,000& = 14l 202,550
O Xlof2el 118,746,000& = 14 118,746
O d=Hel NEZA =012 2EHl 1,320,000& * 14 1,320
O Zsael 47,764,000 * 14| 47,764
O ooz & 8822 3,933,000& = 14 3,933
O ool &€& 848 484 JHAS 6,600,000& = 14 6,600
< SREAXNE DL > 747,842 715,569 32,273
O g=2=2A 164,730,000& = 14 164,730
O &=22d exu=s 4,346,000 = 14 4,346
O & g 22 9,138,000& » 14 9,138
O gtg &gl A 10,000,000& * 14 10,000
O SHEFE 2| AL (FMTP) L & 1,500,000& = 14 1,500
O 1NEY - &8 S5 22ME 502,314,000& = 14l 502,314
O XNHAS A2 AL 24,072,000 * 14 24,072
O OtEm - A ol 10,000,000& * 14 10,000
O Met=2AAME 21,742,000 * 14| 21,742
<sYIHY > 322,744 0 322,744
O ISl (HE) 19,000,000& * 14 19,000
O gueras A 267,444 ,000& * 14l 267,444
O MEHEST & 2XEHE S A& 28,800,000& * 14 28,800
O stdsOtMEAY XI& 7,500,000& = 14 7,500
< SEL > 200,000 100,000 100,000
O =432 TdAY 200,000,000 = 100 A 200,000
< 230z > 400,000 692,824 N292,824
O H==HMELE=H 400,000,000 14 400,000
520 Al - SHIEEXZ=S 51,288,246 47,963,309 3,324,937
521 Al - EHIEZS S 51,288,246 47,963,309 3,324,937
521-01 Al - EHIEXS S 51,288,246 47,963,309 3,324,937
[ 2etsl A ] 51,288,246 47,963,309 3,324,937




09 i 0

500 Ex
520 A
521 Al -

Z2-2-8-5 Oll &F o & E Ol At Hns2
< MMM > 122,274 26,905 95,369
O 5.182F==3 X AKX & HI 80,0003 = 10MITH = 123 9,600
O HM6al E=SAXNYLAN XNUH SSEH T8 X
42,452,000 * 14| 42,452
O MOS8 XX M4 Hata K& 8,700,000& = 14! 8,700
O &dgAELYH =2sUI = 52,122,000& = 14| 52,122
O MHBEANE FANES 4,000,000& = 14 4,000
O dzstes A 5,400,000& = 14 5,400
< 3D > 81,100 49,900 31,200
O N =23 At 81,100,000& = 14| 81,100
<HSXNE L > 17,172 85,822 68,650
O AZEAH 018H KNSAY 17,172,000& * 14l 17,172
< QEXH > 560 7,988 NT,428
O E2Y8 2 HASHSROHAYE 88 560,000& * 14 560
<ZEESHL > 6,096 50,436 A44,340
O ZEs0s T gk 22y 6,096,000& = 14 6,096
< ANSFH > 388,877 282,235 106,642
O sds(33) =52 :4H X 7,980,000& = 14 7,980
O &40l S|LCEHAY 92,500,000& * 14| 92,500
O SE52ZAME 66,145,000 * 14| 66,145
O NgEssH €Xeladg 34,582,000 * 14| 34,582
O XNg3sH 271y =4 28,500,000& * 14| 28,500
O MIHIIE SdAE 91,970,000& = 14 91,970
O MMHMUHUX =82z A (O E 20208)
67,200,000& = 14| 67,200
< QREHXR D > 6,443 50,370 N43,927
O olge Ns=sd M =g 1,800,000& = 14! 1,800
O g2t JI=X3dl 8 d2us XN 1,525,0008 * 14 1,525
O gigkel el ¢4 325,000& * 14 325
O =UEN LA & F& Al 399,000 = 14! 399
O oge ot8ns ZA+g 1,260,000& = 14! 1,260
O Xzl s4 1,134,000& = 14 1,134
< ArRIS X > 4,265,724 4,241,110 24,614
O XEsSA 293 12,316,000& = 14l 12,316




& 500 2=
2 520 Al - SHIEEXES S
ghr 521 Al - EHIEXZE (Sl &&)
Z2-2-8-5 Off &4 & E Ol At Hns2
O MBIEX2 SMA S (4HA) 47,760,000& = 14 47,760
O SER3i & RF2=H XN&E 1,800,000& = 14 1,800
O U222 A 321,777,000& = 14l 321,777
O HEASSH(AHEEAS) 16,250,000& = 14l 16,250
O gL SSEMNY(22LEHAS) 24,252,000 * 14| 24,252
O 2sSSXXE A 41,142,000 » 14| 41,142
O Ngxtgdy 29 47,896,000 = 14| 47,896
O NETEdH SAL SE=F 7,392,000& * 14 7,392
OJIz=d2238s0 3,268,901,000& » 14| 3,268,901
OJIzdeg=sl dE2FHs0 Ex=clAE
45,000,000& = 14| 45,000
O MAHS=N=28k 2= AN FAE
23,856,000& = 14| 23,856
O JtAUE L2201 AL 39,048,000& = 14| 39,048
O XN AS MHIAE XA 157,172,000& * 14 157,172
O JIRAE HME8 ZE=83d 2IAE 2,000,000& = 1A 2,000
O SehAtell2el A X3 34,600,000& = 14| 34,600
O =0 STAE 24 161,917,000& * 1JH 4 161,917
O =0 SXAE SAL SE=E 10,232,000& = 14l 10,232
O =0 STAE ZF, 24| 448,000& = 14l 448
O At ZtelAtey HE3 ZAl+g 2 HH(ROSZE)
54,000& = 12 54
O Arcdi el sloj=¢ 15,000& = 298 * 73] 210
O SeAtell2tel At WS 9,000& * 53 45
O At 2elAte =2 Adtsl 28 § 78 7,500 * 43| 30
O Mea2el SRF& ol 12,7503 » 5% + 22 « 23 255
O Atdi2tel (3 2=sNXEE) gRFX 82 60,0008 + 33 180
O Arcdl2tel X3 A 37,220% ~ 329 1,191
< S QIEOHQI I > 13,566,301 12,247,879 1,318,422
O kel S5 SSEMNHIAAY 123,380,000& * 14 123,380
O kol 538 JI2AbAAY 75,838,000& = 14| 75,838
O SIIJHA MHIA KT AL 2,046,000& = 14 2,046
O SHke SSAAEE ML FFAY
7,425,000 * 14 7,425
O Sk ssddss ANAYE IS
3,304,000& = 14 3,304
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& 500 2=
2 520 Al - SHIEEXES S
ghr 521 Al - EHIEXZE (el ®J)
Z2-2-8-5 Off &4 & E Ol At Hns2
O Zoel =4l 38,078,000& = 14 38,078
O H=¢& 193,335,000& * 14 193,335
O Hass eyl 1,329,000& » 14 1,329
O ZHOoHe!l Xt & 279,000& * 14| 279
O ZHeI=X LXtel At 82,269,000& * 14| 82,269
O Zoe s =R0IAE 113,005,000 * 14 113,005
O =sOHE o2 =8 JHZ A 950,000& = 3t 2,850
O AMZEM SF2SHE 28| 52,189,000& * 1J0HA 52,189
O StdAlZ (OB AaA) 2| 194,051,000& = 14 194,051
O Z0He MESAIL 2SEH (SHE,ILE, olEsa)
2,210,902,000& * 14| 2,210,902
O Zofel AATHEAE 23] 17,875,000& = 10024 17,875
O e MEAE SAL SEF 47,628,000 * 14 47,628
O XFAa THEAE SMI SEE 20,412,000& * 14| 20,412
O O==Al =3tSdE 234l 33,000,000 * 1JHA 33,000
O Ol =2t BESAE 2ZHI(512L)
135,054,000 * 100 A 135,054
O ZoHe MEAIE &, 2AH(3HA)  1,340,0008 + 14 1,340
O Zoots MeEX= 83,059,000& = 14| 83,059
O Zugsssiaz3l 180,000,000 * 1JH A 180,000
O el 2= X 744,959,000 = 14l 744,959
O Al - E2E0 22 IH2 odogeg N
4,701,000& = 14 4,701
O ZOoHots MExz = X 67,200,000& = 14| 67,200
O SAXS Foe == HEAY 1,900,000 = 5Jt+ 9,500
O STTMY &#SEX 0/ A2t =0 237,763,0008 * 14 237,763
O e SXAAY 743,974,000 = 14l 743,974
O Hoe Mg 23 7,500,000& = 14 7,500
O e 0158 23 25,000,000& = 14| 25,000
O S 2s2X XU =W 104,638,0008 » 14 104,638
O Zofer2as A28 Wb XA 5,800,000& = 14! 5,800
O HoHel Jt= XNJME 28 X 50,000,000& = 14| 50,000
O SHHAM(HLEBHRAA) SAR SE
8,820,000& = 14! 8,820




& 500 2=
2 520 Al - SHIEEXES S
ghr 521 Al - EHIEXZE (Sl &&)
Z2-2-8-5 Off &4 & E Ol At Hns2
O ZoHe JHel2HAIE 2gH (HEWHAM=0IE, H==0t
) 49,440,000& = 14| 49,440
O ZoHe MEAld Mol 2oHHE BAMEII2)
3,504,000& = 14! 3,504
O ST NHMEHE X2 (HZHOHI X MEHEH)
45,000,000& = 14| 45,000
O dg&oe s4HE XA 450,000 = 14! 450
O gETe F2 yelag X 2,592,000& = 14| 2,592
O ZEHMY dF = AMBlA & 360,000& 14 360
O g 489 = JEHEX HE X
200,000& * 14 200
O ZEZFML HFAIE AF(ItUE) 285,750,000& * 14 285,750
O XNM&EHe BAAIL XJHE 2 10,000,0008 * 1002 10,000
<OHANEY > 20,612,867 18,207,190 2,405,677
O 822I= Oots2d=H XA 42,000,000& = 14| 42,000
O 822Is I ots<=Hl XA 420,000 = 14 420
O SR2i=s nsstd st&3Hl ANF 2,460,0008 * 14 2,460
O SR2IiHs MEXES 398,995,000& * 14 398,995
O SR2IiH=s Nssd Itd wBsHl XY
28,383,000& * 14 28,383
O 822II= Y d g2 42,388,000& = 14| 42,388
O ZIE M3l 2,500,000& = 14 2,500
O &4 82 I N&E 2,290,000& = 14 2,290
O HE=EHFANE SAML s 720,000& » 14 720
O HE=SXAE LAT SESRAH(HEAE M)
2,354,000 = 14 2,354
O &Y e -2 =&ga dALZX  30,000,0008 * 14 30,000
O HdHHME S8t XNF SeE B2 =T 4,000,0008 * 14 4,000
O &Y - FHud A529 6,000,000& = 14 6,000
O g0l - sS&0tE €Xtel & ALY 3,000, 000& *3H & 9,000
O ¥ad dg=sidy 29 19,200,000 = 1004 19,200
O &) 8424 &4 29 29,700,000& * 1JHA 29,700
O 2ANEs 3449 8dH 29 48,196,000 * 1JHA 48,196
O &ad d=23dH 24 35,000,000& * 1JHA 35,000
O XNSotsHe 29 517,000,000 » 14 517,000




& 500 2=
2 520 Al - SHIEEXES S
ghr 521 Al - EHIEXZE (el ®J)
Z2-2-8-5 Off &4 & E Ol At Hns2
O &4 344 23& 29 12,000,000& = 14l 12,000
O NE0tsHEe EQEd8l X&E 21,730,000& * 14 21,730
O dad sotelgs & 900,000& * 14 900
O XNHotsHlE =0 N (S+==2XE) 16,050,0008 * 14 16,050
O AMe0ots Uis dstht= 3,500,000& = 14 3,500
O d&10t HEFEHS 9,000,000& = 14 9,000
O N<E0tsHE 2tAH A& 39,312,000& * 14| 39,312
O &E20ls NHEEEHS 4,500,000& = 14 4,500
O OtsSSXWAH(ALSIH 2 Xtel) K& 69,651,000& = 14 69,651
O Ors=sXAE 29 X&E 232,450,000& = 14l 232,450
O OtS=XAE 2SH(MESE SANSESY HEER
2 89,340,000& = 14 89,340
J5SEH OsEs 25,882,000& = 14| 25,882
O adgaldItd X& 336,000& = 14l 336
O 2EAUIENU € HEASHU /2=
13,770,000& = 14| 13,770
O AEAUEINE & JHEE0sS e M3
7,000,000& = 14 7,000
O AFAUNENN & JIEAE S B E M=t
5,850,000& = 14! 5,850
O Zalots =4 X& 15,669,000& = 14! 15,669
O JtEREts 2=FH| 22,536,000& = 14 22,536
O &8Jls ots=24ltl 557,270,000& = 14| 557,270
O JHEeE ¥ gdots delxz XN 210,000& = 14 210
O gsts otss4a X 204,425,000& * 14 204,425
O JtE=I80s dol2g= N 1,680,000& = 14 1,680
O OtsZE XA XA 17,979,000& = 14! 17,979
O Hiots FLLE EX3 1,128,000& = 14 1,128
O gL0ts L=+ 15,090,000& = 14| 15,090
O A2AINFBNJAEH 29 43,125,000& = 14| 43,125
O DIElRL HE2EAMY 12,250,000& = 14| 12,250
O otolSs=0l XA 118,697,000& * 14 118,697
O EIENHE0E EFA =F 112,112,000& * 14 112,112
O sOHELAN gelogold X 2,761,000 = 14 2,761




I: 500 X3
B 520 Al - SHIBE3S
: 521 Nl - SHIRZX3S (ctel: & 8)
¥.p-8-2 O &k 0 0l & o HRE2
O 20h 2 H0HOF ME 020y DNY Sgay
95,760,008 * 14 95,760
O 2ot % HOjOF ML Ol2I0lE 1=t X8
1,800,0008 * 14! 1,800
O ORI0IZ REY Q12| 2,334,852,000% * 14! 2,334,852
O YR0t 252 N 4,843,169,0009 * 14! 4,843,169
O DM DRUI(WIIAS 012t JF) 13,611,008 * 14 13,611
O Ol2I0IE ANPSYHI (S0 E, ZBHALY) 5,868,008 » 14! 5,868
O OlRI0IE DAt 2RSIMLE XY 221,582,0008 * 14 221,582
O NE?l 0RI0IR X 24l 18,000,008 * 14} 18,000
O 5M SRR (NLDSWZLLS) 7,471,402,0008 * 14 7,471,402
O OlZI0IE DI0I80tE S8+Y 2,195,038,00021 * 14! 2,195,038
O 2$ns LK (HEOO) X 29,088,0008 * 14! 29,088
O 0R0IT SLHYES A2y 800,0008 * 14! 800
O ZZHOIBOIE AIEAY 298 N™ 90,525,008 * 14! 90,525
O HOIOROIE HESAY 15,000,0008 * 14} 15,000
O Olg=ZaAs 2 Hegs FASTAAH|
53,213,008 * 14! 53,213
O NE=Za . M=ot Iafal= L WLBAAL (D)
10,541,008 * 14! 10,541
O JHSE o83 Y NAY 97,875,008 * 14! 97,875
O S0 WaHots 25 2 X 116,872,000 * 14! 116,872
O Zmoh 0IF0S XAY 15,733,008 * 14! 15,733
O GISTNQ ASIEOC T202 24| 7,702,008 * 14 7,702
O U2NSNALYH 29 65,951,008 * 14! 65,951
O GE3Its oo ¥ S X 6,801,0002 * 14! 6,801
O B4 MBS NAAS 28 Y 29
2,375,0008 * 14l 2,375
O st o HoHs F29 2Xel HEAY
2,500,0008 * 18l 2,500
<JlE2EH > 131,125 101,200 29,925
O HOIAXER 23 31,200,0008 * 14! 31,200
O MCIIAKSR ¢EH X 17,550,0008 * 14! 17,550
O SA HI=EZY 2el 34,400,0008 * 14! 34,400
O MH=AHU &% X 1,200,000 * 14! 1,200
O OFMES20| 28 SX2 S Toh 24 4,500,0008 » 14! 4,500




& 500 X3
2 520 Al - EHIEEXSS
8 521 Al ZHIEE3S (29 &)
Z-#-8-2 0l &t o 0 ot o HZE2
O OFMSAS 2579 2N 294 I
2,275,000& 14 2,275
O &3 NAES MOILE izl EX 40,000,000& = 14| 40,000
< T AOISY > 20,000 12,180 7,820
O =dIOIE ™MelXE At 14,400,000 = 14l 14,400
O gsHila =N Hd3 5,600,000& * 14 5,600
< 22t > 124,191 61,068 63,123
O 20148 Odols83 At 5,965,000& * 14| 5,965
O 2st2Zoi& A &3Hl XA 3,226,000& = 14 3,226
O & & FAst ALY 25,000,000& * 14 25,000
O 32X ZHBBOAUME L SHAL A
90,000,000& * 14 90,000
< s=AFF > 447,108 549,391 A 102,283
O =B HA2 B3 3,974,000& * 14 3,974
O & Motl2dz XA 85,500,000& * 14 85,500
O e Mol2Ed=E X 25,070,000& 14! 25,070
O ZHE2XNG LS HAS 32,564,000& 14! 32,564
O =42 ATE A A 300,000,000 = 14l 300,000
<O AD > 133,950 270,000 A 136,050
O =38 Y LIAY 69,000,000& * 14 69,000
O I SSNE MY 10,800,000 = 14l 10,800
O LAaxb2 MHE2ES NAAS 54,150,000& 14! 54,150
< oot M > 320,599 332,599 A 12,000
O EMENES ARYE =Y 1,728,000& » 2H 3,456
O HESEMNLAML(0I8SHY) 257,143,000& = 14l 257,143
O o HOAIE HHAY 60,000,000& * 14 60,000
< ETEMLE D > 3,231,540 3,668,785 ANA437,245
O3 EASSHEAY 1,032,500, 000& 14! 1,032,500
O S&E~HE2F A= It I A 1,314,500,000& * 14 1,314,500
O 3E~otE2t A& W HXE=3 A 510,000,000& * 14 510,000
O EAMXS H= oHE 2 X 311,180,000 = 14l 311,180
O ENXSY MBS 254 X2 63,360,000 * 14 63,360
<AL > 194,000 284,499 290,499
O &2 FESSAY 76,000,000& = 14 76,000




& 500 2=
2 520 Al - SHIEEXES S
ghr 521 Al - EHIEXZE (Sl &&)
Z2-2-8-5 Off &4 & E Ol At Hns2
O ot& Jld M BIAE 25,000,000& * 14| 25,000
O == M=X HE==AE 28,000,000& * 14| 28,000
O otd EINE =LA 30,000,000& = 14 30,000
O otd == A2 HHAL 10,000,000& * 14l 10,000
O S=oll28 e 23 25,000,000& * 14| 25,000
< A= > 14,688 0 14,688
O 20148 =dI0IE ™Mel XJ At 14,688,000& » 14 14,688
<unsEFHY > 1,293,239 1,143,381 149,858
OANUW s-HEHA 2EME MEXNES
1,227,847,000& = 14l 1,227,847
O 8kl 42843 29,392,000& = 14| 29,392
O 2g8HA 2gH X 18,000,000& = 204 36,000
< EBHA MY > 198,900 4,030 194,870
O &4gBARNL AFIA 106,920,000& = 14 106,920
O RBE - 2gAET 5 AlUN ZAIE &3]
630,000& * 14l 630
O oglol JIsAalsE 8 22l 29 1,350,000& = 14 1,350
O ofglol gazel XNFHdH 2 90,000,000& = 14! 90,000
<AL > 884,526 698,110 186,416
O s0&E A2sd T2 2 8,000,000& = 14! 8,000
O 2014 et =Seostetgds 29 1,000,000& = 14! 1,000
O dldot =3 387,900,000& * 14 387,900
O 24 ots 22 X& 92,501,000& = 14 92,501
O &2 & Aldor =01 XN 25,129,000& * 14| 25,129
O YAl HEES 36,433,000& = 14| 36,433
O el A8 1,958,000& = 14! 1,958
O g x2J14a 36,291,000& = 14 36,291
O & i 2d=4 K& 65,132,000& = 14| 65,132
O 83 HXgEEA 2A=H X 29,879,000& * 14| 29,879
O 3uegA 60,765,000& = 14| 60,765
O d=Hd NEZA 2AZ012 24| 396,000& * 14l 396
O Z2iae] 15,434,000& = 14! 16,434
O stdldg g Xt 2tel X& 12,701,000& = 14l 12,701
O nolxs & &9 22l 1,000,000& = 14 1,000




& 500 2=
2 520 Al - SHIEEXES S
ghr 521 Al - EHIEXZE (Sl &&)
Z2-2-8-5 Off &4 & E Ol At Hns2
O Xlog2el 54,867,000& = 14 54,867
O =24 H2da A4d SEAHA 13,848,000& * 14 13,848
O E9A 28Xd T2 19,132,000& * 14l 19,132
O F3=2A 2,580,000& » 14| 2,580
O gLScelA A 19,580,000 * 14 19,580
< SREAXNE Y > 77,133 13,887 63,246
O gz2Fe gE=2A 8,521,000& » 14| 8,521
O & og 22 2,741,000& » 14| 2,741
O Z2Y &3 A=z NHIA 2,625,000& * 14 2,625
O &22HAY 49,419,000& = 14 49,419
O &=2=2d exu=s 1,304,000 = 14 1,304
O gtgd &gl A 3,000,000& = 14 3,000
O OtEm - dAo&2el At 3,000,000& = 14 3,000
O Met=2AAME 6,523,000& » 14| 6,523
<sYIHY > 1,400,980 945,594 455,386
O sHEESLUAN SE€+8 40,498,000& = 14 40,498
O ZA2HN=EN NS AL 1,206,000& * 14| 1,206
O sENE0E MRENE NEAY 4,320,000& * 14 4,320
O 8=2s0HlNE ESAEY 6,317,000& = 14 6,317
O st==0 X& 540,000& * 14 540
O sgo HEsE=2 XN (==2H) 78,307,000& = 14 78,307
O s =8=28 XN& 4,500,000& = 14 4,500
O ZHECINSHEMAMLS 31,020,000& * 14 31,020
O 28 sIAH FEXNSEAEL 21,750,000& * 14 21,750
O sUAHASEH XA 1,494,000 = 14 1,494
O 2013¢ B M=ot 2SI U MEl 531,429,000 * 14 531,429
O ELMHEHM X3AAS 26,208,000& * 14| 26,208
O |®Jls dHOtE 24 40,000,000& = 14| 40,000
O s&=s Mol2gs N& 5,000,000& = 14 5,000
O ESst=E SHAME 3,000,000& = 14 3,000
O ZEdsgeil ZdA 182,000,000& = 14 182,000
O Zed set=2 dAEE ot N 1,210,000& * 14| 1,210
O ®RJls &d28 XA 200,000& * 14| 200
O MI2d0l 38 XA 13,000,000& * 14 13,000




& 500 2=
2 520 Al - SHIEEXES S
ghr 521 Al - EHIEXZE (Sl &&)
Zg-2-g-5 Off &4 & E Ol At Hns2
O &&d s XNEAY 2,700,000& » 14 2,700
O &g dssIt NEAY 50,600,000& = 14 50,600
O datdsdzs 7= M A 3,510,000& = 14 3,510
O ZY9IINM & 4E 7Y 17,290,000& * 14l 17,290
O =888 MHEH 6,370,000& = 14 6,370
O 7MY gdsd(dds) 2 X 800,000& * 14 800
O SHXIM 20l A 8al X& 5,400,000& = 14 5,400
O N=HASAM NJA(H 2EZ2Y) 800,000& * 14 800
O 549 &34 XN& 7,200,000& * 14 7,200
O &g X008 s H XN&E 2,800,000& * 14 2,800
O Xtg RHQUANFER SAZE 2,382,000& » 14 2,382
O &= gMA=2 ¥ SsgdMs 284 X
15,525,000& = 14l 15,525
O &= 2dHasa & g4 Wt s N
20,183,000 » 14 20,183
O suessa N 57,305,000& = 14| 57,305
O &XME = 243 N 4,590,000& = 14| 4,590
O JIIETHol 28 N3 MY 1,500,000& = 14! 1,500
O &Jjgtd ME A 1,800,000& = 14! 1,800
O 2&d sasde osH X 19,908,000& * 14l 19,908
O SOt MAHHAIY A 243 6,000,000& = 14! 6,000
O eteSEAMNY NA 2X3 2,800,000& = 14 2,800
O 2AaJjo8E=&8n HE F3H X 6,318,000& = 14| 6,318
O £¢ HASZH X 600,000& * 14 600
O 23t sd MY 6,000,000& = 14! 6,000
O =s0g HUXIoE S83tALY 13,500,000& * 14l 13,500
O 2UAS =20t 2FAY 55,600,000& = 14| 55,600
O NEALSHHES HISSAMY 90,000,000& = 14! 90,000
O =3 Kol ZEEYEI XA
1,500,000& = 14! 1,500
O AE20 SEMLAG (DFHINEAE)
6,000,000& = 14! 6,000
<sSENZ L > 25,476 21,488 3,988
O tetl=s sgags =a 10,000,000& = 14! 10,000
O 0SE 88 gd=sJlsl=s 5,000,000& = 1A 5,000




& 500 2=
2 520 Al - SHIEEXES S
ghr 521 Al - EHIEXZE (Sl &&)
Z2-2-8-5 Oll &F o & E Ol At Hns2
O sEXNEXsE M2 282 NE 5,076,000& = 14 5,076
O dHEsge disy A= 2,400,000& » 14| 2,400
O s&0d =g 32N #s5 & 2,400,000& » 14| 2,400
O d=sge stsHd |4 600,000& * 14 600
<Jl=EsH > 21,000 34,500 213,500
O JI=H3US dAS HF L= A4S
15,000,000 * 1JH A 15,000
O Rel & sd &2 UEE 23 6,000,000& = 14 6,000
< SHUESFHL > 62,623 19,037 43,586
O '"144 SEMASLH(INISTHES 25 2 2LHE M
&) 42,000,000& = 14| 42,000
O AMNSZE CIX HEAY 2,000,000& = 14 2,000
O s¢2 282 DEX XJAAY 1,200,000 * 153 18,000
O GAPRIES & ZAHI XIE ALY 623,000& = 14! 623
< A > 901,174 983,844 82,670
O =AY 34,739,000& = 14| 34,739
O =J13J| 304,213
o =IOtRI| ALY 296,469,000& * 14 296,469
o MBAASXAC LI =S 640,000& = 14l 640
o ZIHRI| XYW 4EAS U =4 7,104,000& = 14 7,104
O LHEBIOIQA dtE =T 30,888,000& = 14 30,888
O ugdzdH= =8 684,000& = 14l 684
O LeIAHEE 22 MY 654,000& = 14! 654
O st HHzs2d 2= 60,000,000& * 14 60,000
O MHMAZE LAY 50,000,000& = 14| 50,000
O R0t = HNEH 24 1,500,000& = 14 1,500
O MEZA(ZA=) ZHAY 90,000,000& = 14| 90,000
O S&t2 FHlAY 38,400,000& = 14| 38,400
O Gt Eals LAY 129,110,000& = 14 129,110
O 23+ FHIAMY 33,000,000& = 14| 33,000
O G2 X ALY 127,986,000& * 14 127,986
< s > 1,710,965 1,752,373 241,408
O stuga ZESIsME ANE XA
1,710,965,000& = 14l 1,710,965
< 230z > 1,027,615 762,468 265,147




& 500 £EX3
Z: 520 Al - SHIRZZ2E
8: 521 Al - SHIEEXZ2E (2l &)
&H-a-8-5 Oll &FoH & 0] A oH Hlw =2t
O X0l 23t2s 10,000,000 * 14! 10,000
O M403 MM =sH &b X 3,000,0002 * 14 3,000
O 0= &8 HHAY 135,000,000 * 14l 135,000
O O+HASE FHAY 22,500,0008! * 12 22,500
O RERIM &4 XA 33,600,000 * 14 33,600
O RS 2HAI SAXNVS (2N 2 2)
4,740,0008 * 12| 4,740
O EQSTREM 2As XA 32,775,0008 * 12 32,775
O Ol=8n E:AY 49,000,0008! * 12 49,000
O 2HY BaAY 48,000,000 * 12 48,000
O Shhetn B5AY 245,000,0008 * 12| 245,000
O E2A HSd HHESAL 90,000,000 * 14 90,000
O B32AN =FAE S5 H4ALHAY  10,500,0008 * 14l 10,500
O E3A ZAA 20 A524AHY 35,000,000 * 14 35,000
OOz I9X 2H+AY 35,000,000 * 12 35,000
O HYRAMS B2AS 30,000,000 * 12 30,000
O x==HELESH 200,000,000 * 12 200,000
O 0z M M E:AY 36,000,000 * 14 36,000
O 0% BE9 208 E4AMY 7,500,0002 * 14 7,500
00 EXR4+ASLLIE N 32,435,252 32,855,031 A419,779
710 284S 30,887,540 32,810,113 A1,922,573
711 2012 30,887,540 32,810,113 A1,922,573
711-01 =MAL A2 30,887,540 32,810,113 A1,922,573
[ Lersl A ] 30,887,540 32,810,113 ~1,922,573
< 3D > 30,887,540 32,800,000 21,912,460
O &=MAYAHZ 30,887,540,000 * 14 30,887,540
720 LA 01 2H 1,547,712 44,918 1,502,794
721 M3 1,547,712 44,918 1,502,794
721-02 BAb - BHEYZ 47,712 44,918 2,794
[ 2Bt3H ] 47,712 44,918 2,794
< SADISHD > 47,712 44,918 2,794
O A8Ilsl 2HICS (233 ) 47,712
o QUMELY 1,109,610 = 120HE « 19 13,315
o 2UASN 3,600,0008 « 13 3,600
o SEAEXRZ 9,624,5108 * 39 28,873




g 700 2L SHUHR AN
2 720 UEAH
g 721 MY3 (Sl &&)
Z2-2-8-5 Off &4 & E Ol At Hns2
o S8 I 641,640& » 3¥ 1,924
721-03 JIEtSI H A A = 1,500,000 0 1,500,000
[ Letsl A ] 1,500,000 0 1,500,000
< ASFH > 1,500,000 0 1,500,000
O =33, WPCESETH 2L SEXES
1,500,000,000& * 14 1,500,000




